= AH O
N = 0 &8 AF S & Al A
20119 = 204 LBGH SSHSAL A ~ 2SS AIE A
2A: 2SS A
Hi: R20=RE
o N2 24 (e
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
SSHS A A 8,454,789 6,534,861 1,919,928
= 186,786
z 2,058,000
p) 50,943
= 80,409
< 299, 151
= 5,779,500
S3isrE 709,307 627,584 81,723
= 77,932
= 80,409
< 45,111
= 505,855
er2s |4 291,863 236,820 55,043
= 38,732
=2 16,700
< 25,731
= 210,700
20l &3 XN& 94,900 59,900 35,000
201 Lt AH| 7,600 7,600 0
01 AF222|H] 7,600 7,600 0
Oos™ 7,600
202 0OiHl 8,000 4,000 4,000
01 2o Y| 8,000 4,000 4,000
O=2&tles g92=X 8,000
301 Lt A2 600 600 0
10 AL HIBAZ 600 600 0
O23ls A € s A AdHE4
50,0002 x62 x23] 600
307 QI2t0lA 78,700 47,700 31,000
02 QI2tZAB X 78,700 47,700 31,000
OEt=H| =22l Ma=s X 1,500
O#=<H| Hdlss X& 1,200
Osgtn 58 ¥ stiund 29 1
7,500,0002 23] 15,000
OANZs2dAUz &2 N& 10,000
OSHESHMUa X 5,000
OE2 2 M2=s0 8412
2,000,000 «8JH CH Al 16,000
OXeITc&LZ Mss I 30,000
NESWNIT AESES 3,200 3,200 0
= 1,700
= 1,500
307 GI2t0IA 3,200 3,200 0
= 1,700
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1,500

02 2ItAAE X 3,200 3,200

Ol SHFESES AlH(OI2Y) XA 3,200
1,700
1,500

BUNE

sm 2Qstn 29 4,620 4,620
1,807
2,813

Mk

307 2120l & 4,620 4,620

1,807
2,813

Ml

02 2ItAAE X 4,620 4,620

Ogn 2esty 23 4,620,000 * 170 & 4,620
1,807
2,813

RURE

o= SEs 30,000 30,000
10,000
20,000

Mok

307 2120l & 30,000 30,000

10,000
20,000

Ml

02 PIAFAEE 30,000 30,000
C 2sgs 30,000

10,000
20,000

M H1

o2 M= 12,500 12,500

5,000
7,500

EURGH

201 B2 12,500 12,500

5,000
7,500

Mk

03 AI2SHI 12,500 12,500
Bl 23t0llz= MW= 12,500,0009 * 100 A& 12,500

5,000
7,500

Ml 1

MBI 23tz S S-3H XA 20,000 20,000
10,000
4,000
6,000
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4,000
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SN
X XH .
S Tt

el

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
= 4,000
= 6,000
NS 2= 85,600 97,600 A 12,000
&2 15,000
i 70,600
201 Let2d| 3,600 5,600 A2,000
01 AtE22(Hl 1,000 1,000 0
oz 1,000
03 HAH2SHI 2,600 4,600 A2,000
O=MEH B2 SR Y BHe9 2,600
—HEEE 1,000, 000& *2J4 2,000
—8==4 60,000 = 100H 600
203 ¥R =& 2,000 2,000 0
03 AIZFXHRFAH| 2,000 2,000 0
Otz =8 2,000
307 212t01& 80,000 90,000 A 10,000
= 15,000
= 65,000
02 2ItAASE X 30,000 40,000 A 10,000
O QtA SJHHl OIS A X3 30,000
= 15,000
i 15,000
04 QIHHAIE X 50,000 50,000 0
O=E4 d2 (Y == SH)IEA X 50,000
Zotbte ™ XA 41,043 0 41,043
= 28,732
= 4,924
= 7,387
301 EtEA = 41,043 0 41,043
= 28,732
= 4,924
i 7,387
01 A2IEEE 063 41,043 0 41,043
O=2z=X28d Xa 41,043
= 28,732
& 4,924
i 7,387
F3HM 54 417,444 390,764 26,680
= 39,200
= 63,709
= 19,380
= 295,155
=0 82 At 85,000 113,720 228,720
307 QI2t0IA 85,000 113,720 228,720




SN

23t
M Zozds
23t

Sl 2SEH S4 (649l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
02 QIAAMBE 85,000 113,720 128,720
OM2sl =0 BAel MIRHHS X 75,000
O et R#OHs F=IHe| 2RE Xgdt
10,0002 +1,000 10,000
N2t 25 N 96,200 78,000 18,200
2 53,709
2 42,491
307 12+0IH 96,200 78,000 18,200
= 53,709
2 42,491
02 PIAFASBE 96,200 78,000 18,200
ONYSee ML (BEAELL S)XE 58,000
= 40,709
2 17,291
O238 AR=2F 1248 20,000,008 %1% 20,000
= 13,000
2 7,000
O2sd 2N 8,200
Zot 2a0EE 2Y 41,000 6,000 35,000
307 212H0I 6,000 6,000 0
02 QIAHABE 6,000 6,000 0
O2stlzE 29 X 6,000
401 AEHI LS 35,000 0 35,000
01 Al&| 35,000 0 35,000
ORUEE BLBA 35,000
RYCTHE 2Y 17,244 17,244 0
201 Yereo| 17,244 17,244 0
01 AtR2elt] 2,000 2,000 0
SE-T 2,000
02 ZTZ2H| 15,244 15,244 0
Oz 15,244
T[N 2Y X2 20,000 20,000 0
= 10,000
2 10,000
402 Q12FXHEOIF 10,000 10,000 0
= 5,000
2 5,000
01 2AX=EE 10,000 10,000 0
OB4+TTEHNY RHETY X
10,000,000%*17H 2 10,000
= 5,000
2 5,000
405 XtarFE S| 10,000 10,000 0
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SSEAMS H2tAIZE HE X& 78,400 78,400 0
39,200
39,200

M

101 el 24l 50,400 50,400 0

25,200
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hsEs 50,400 50,400 0
N2t OH2tAIZ HE2E el 50,400
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A2 M2 2 X# 40,200 24,400 15,800

12,060
28,140

U

201 =&l 25,200 14,400 10,800

7,560
17,640

EURCH

]| 25,200 14,400 10,800
Mz Z2stZzz20d 29
8,400, 000& *3IH &= 25,200

7,560
17,640

U

405 XtobE SHI 15,000 10,000 5,000

4,500
10,500

Mok

02 =M H 15,000 10,000 5,000




FXIS AP &~
=& &
FEHHl =4

H0 MO MO
tol ol fon

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
O M2 5,000,000& *3H 2~ 15,000
& 4,500
= 10,500
SNl Jf e 24,400 23,000 1,400
= 7,320
= 17,080
307 212t01& 24,400 23,000 1,400
= 7,320
= 17,080
02 QIZtBAE X 24,400 23,000 1,400
OJIEENMS 12,200, 0003 24 2 24,400
& 7,320
= 17,080
e ME2s(2AE 15,000 0 15,000
307 212t01H& 15,000 0 15,000
02 BItAAEX 15,000 0 15,000
OoXNg dE=3 =0|) SAaAMY X 15,000
A =4 145,000 545,000 A 400,000
Z0AE &5 100,000 500,000 A 400,000
I3 AAl 100,000 100,000 0
201 LBt H| 100,000 100,000 0
03 dArZZEHI 100,000 100,000 0
OJ183¢ 100,000
FoAE 22l 45,000 45,000 0
A 20=sX2 22 45,000 45,000 0
307 2U2t01H 45,000 45,000 0
02 GI2tAAMEX 45,000 45,000 0
OZAHZ2H=X 45,000
REX BEE 50,200 40,544 9,656
Agolg=s el 50,200 40,544 9,656
= ALE 2tel 50,200 40,544 9,656
101 144l 6,300 5,994 306
04 JI2tRIZ22 Xt 6,300 5,994 306
O=Ag &
35,0002 182 «10H 6,300
201 23| 33,700 33,700 0
01 AFR22lH| 7,400 7,400 0
O 1,600
O=lAtY ZelAtRA LAY 5,800
02 2223H| 26,300 26,300 0




AN SAMSAE A

=
.y
HH: 2R L=
ool NYlEe el (ol @2

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
O™ 26,300
206 M= 4l 1,200 850 350
01 M=l 1,200 850 350
OXNEESH 12,0003 #5044 600
Oodlz 12,000 & *50 & 600
401 AIEHIZ 2B 9,000 0 9,000
01 Al&HI 9,000 0 9,000
Ozl JIgs &4 9,000
SIRAS B& 570,558 624,553 A53,995
= 108,854
& 202,350
[ 259,354
=St 22l 570,558 624,553 A53,995
= 108,854
& 202,350
iy 259,354
=t A& 22| 9,500 9,500 0
201 et H| 7,700 7,700 0
01 AtR22ldl 1,700 1,700 0
OFNH 1,700
02 S==294l 6,000 6,000 0
OFN 6,000
301 YptE A= 1,800 1,800 0
12 J|Et2 &= 1,800 1,800 0
OSAHZF I ZAIHER
1,800
S HES=FH (SHAIY) 23,000 175,000 A 152,000
= 9,100
= 750
o 13,150
401 AIEHIZ2Ub] 23,000 175,000 A 152,000
= 9,100
= 750
= 13,150
01 Al&HI 23,000 175,000 A 152,000
Ools et E 4XI 5,000
= 3,500
& 750
= 750
O&AHIIEE FX&2(2 ,s4el SEILR
) 8,000
= 5,600
o 2,400
Oolers XX Axl 10,000




AN SAMSAE A

My 2anuo BE
cel: Sa 22l (2ol @2
] _ _ PIEL=
SA - EY . O(SH) - NRAY - BES 0fl b e HDZ2
E2 ST AAZAHHTE 73,500 58,000 15,500
= 45,650
& 11,600
2 16,250
101 elH| 58,000 58,000 0
= 34,800
& 11,600
= 11,600
04 JDIZtM22XSE+ 58,000 58,000 0
OR4ABDUHET EZH O o121H 58,000
= 34,800
& 11,600
= 11,600
201 Let243| 15,500 0 15,500
= 10,850
= 4,650
02 2z 15,500 0 15,500
OR4HDYHE w2 10,000
= 7,000
= 3,000
OR+SDHAE BTAE RTB2 5,500
= 3,850
= 1,650
o Eg2eldl X& 6,840 6,840 0
= 4,104
= 2,736
101 Q1 ZH| 6,840 6,840 0
= 4,104
= 2,736
04 A2 RS D+ 6.840 6,840 0
Oolets, meel LEILS Szael oy 6.840
= 4,104
= 2,736
T & z2el 5,718 5,718 0
201 LBt 1,518 1,518 0
02 2223H| 1,518 1,518 0
O=EZZM U-otd 2| AlAE S 1,518
301 L2 A3 4,200 4,200 0
12 JIEtE243 4,200 4,200 0
OBAHZSI ZANEEAR Ba3
100,000& 3 *142] 4,200
NEXNHSY =+FH 330,000 188,000 142,000
c 165,000
= 165,000
401 AIEHIZ 2RI 330,000 188,000 142,000




AN SAMSAE A

g 2auo B
col: 281 22l CUREE
] _ _ PIEL=
SN B SR(EN) - NEMNY - BES 0f &k o4 e HIDE2
= 165,000
= 165,000
01 Al&EHI 327,714 186,236 141,478
SEELCFIEYPS 6,000
< 3,000
= 3,000
SLIESIEYIPS 6,000
< 3,000
= 3,000
CEEETESIERS 6,000
S 3,000
= 3,000
O=liMgE = 228,344
S 115,000
= 113,344
On=g 42 2aBA 69,370
= 35,000
= 34,370
OXNeEE=> 12,000
= 6,000
2 6,000
03 A2 R04Hl 2,286 1,764 522
ODISg 42 24BA 70,000,00020.9% 630
O=iMgE = 230,000,000 #0.72% 1,656
JIE BES B2 22,000 51,495 129,495
101 Q1A 3,500 4,995 AN 1,495
04 JIZHMIZ2XEE = 3,500 4,995 A 1,495
O=JH IR 2l 35,0003 10 +10H 3,500
201 2orE ey 14,400 14,400 0
01 A2l 3,000 3,000 0
OsH 3,000
02 22 11,400 11,400 0
OosH 11,400
206 TH2 | 2,100 2,100 0
01 M=l 2,100 2,100 0
OENMIIN B0 & se 22l 2,100
—A=E2SH 10,0003 45 +30H 1,200
—&CE "=z 20,0003 x20& 400
— &l 5,000& 1001 500
401 AlZHIZ 2 H] 2,000 30,000 28,000
01 A&l 2,000 30,000 A 28,000
OEMMINT A48 28X 24 2,000
HSAEEEXE 100,000 100,000 0




FA: SSHSAIE A
M 2siguo BE
Chel: 23t 22 (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2

= 50,000
= 25,000
i 25,000

402 2I2b =01 100,000 100,000 0
= 50,000
& 25,000
i 25,000

01 BIZHGEEX 100,000 100,000 0
OdEAL HE 2 QA 2= 100,000
= 50,000
= 25,000
= 25,000

=OME =4 6,951,700 4,675,788 2,275,912
= 2,058,000
Il 50,943
& 51,690
i 4,791,067

cUH=s 243t 1,031,088 958,639 72,449
Il 50,943
= 16,690
= 963,455

Y= Btecldd 29 235,250 236,850 A 1,600

201 Let2d| 224,050 224,350 A 300

01 AtE22(Hl 32,050 31,850 200
oz 8,000
Ogtselde d=2| 24,050

02 2323l 192,000 192,500 A500
OosH 192,000

206 M =4l 11,200 11,200 0

01 Mz bl 11,200 11,200 0
OoJtzE stz £ 7Y 3,200
Ox=Z& =Z2e|AZ(0tHIE 8) 8,000

2E M3 =, &0t 510,800 481,800 29,000

202 O4Hl 5,000 8,000 23,000

01 WAL 5,000 8,000 A 3,000
AEMSUH HRFA 5,000

203 HRF4Hl 3,000 3,000 0

03 A MF=XHSLFEH| 3,000 3,000 0
OUABHM=UH3 HAFA 3,000

307 QI2t0IA 502,800 470,800 32,000

02 2ItBAE X 67,000 52,000 15,000
OM=sg4ds 2208 2 XA 40,000
OXM=3=24gdl X& 27,000




fA: S2AMSAE
Hu: ZoMS 84
&t ZeHSE 2d3t
SA BB CR(SH) - NRAY - A S Ol o e
04 QIZHHALE X 435,800 418,800
ORIEHOIESUS (&) XA 3,000
OH=S XA HOIES Tiel EIHXIE 1,000
O= &= 2=z X 9,000
Od=AH0tetE Ual ZIHXE 4,000
OZ8X=zal &HILXA 90,000
OEX A et sz &K 45,000
OO M= &K 7,000
O=Jith &= &0z K& 10,000
Oz M2 HLAUE K& 10,000
O=HtH &= HIECIEHS XI& 10,000
Oo0lZall CretEthsl XA 20,000
O=F=lJ1 &= A E=Us XA 40,000
o2& M=la s8N 10,000
Ogsyd &d =203 XN 5,000
O=Jitl Htstial K& 3,000
OXd=TeAZ2t0IEY Uzl XI& 10,000
OF==2 Sttiial X& 4,000
OHoOIEEUS &N 16,800
OsF4AA A=A HE XA 3,000
OosHUYY M=U3 KA 42,000
O=Z0lod M=l AN 83,000
O¥==ZHAEMSUS N 10,000
MEF=s NARE 109,812 109,812
Il 41,856
& 7,780
= 60,176
307 gI2told 109,812 109,812
| 41,856
L= 7,780
= 60,176
02 QI2tFAEX 109,812 109,812
OMeExsXN A BEXIALS 62,784
| 31,392
= 31,392
oz N=gs N 20,928
| 10,464
= 10,464
OdEMsns 24 14,000
& 4,200
= 9,800
ORAd E-us & 8,400
& 2,470
= 5,930




M SEHSAY A
dx: 2UNE 24
&t ZeHSE 2d3t (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
OZINEK 29 3,700
= 1,110
= 2,590
M= S ABAS 12,981 6,240 6,741
Jl 9,087
= 3,894
301 LEtE A= 12,981 6,240 6,741
Il 9,087
i 3,894
01 MBIEEH=0l= 12,981 6,240 6,741
OAZ=HIRH AlEAHY 12,981
| 9,087
= 3,894
ME el =30 20 XA 29,700 32,967 N3,267
= 8,910
= 20,790
307 QI2t0IA 29,700 32,967 N3,267
= 8,910
i 20,790
02 BltAAEX 29,700 32,967 N3,267
OdgH=s s=2ecld X3 29,700
& 8,910
i 20,790
¥+ AXXZYE 29 40,000 0 40,000
307 QI2t0IA 40,000 0 40,000
02 2ItBAE X 40,000 0 40,000
OAZ=2g 2gH NA 40,000,000& 40,000
F==0NSHH 2E 92,545 90,970 1,575
101 Q14| 17,535 18,790 N1,255
04 JIZtHIZ22HEsE+ 17,535 18,790 AN1,255
OZ+==0MSdE MREEX 11,585
—Jl2s 35,000 249 8,715
—m=5¢ 35,0003 52! 1,820
— X 35,0003 10 350
—NEAMHEER 700
OZ==ZUNSHE A2ZAL 350,000 128 4,200
OXM=s3& 22 35,0002 x10 +5LH 1,750
201 Let2d| 50,580 50,580 0
01 AtE22(Hl 7,800 7,800 0
OF- 5,000
O=0HMsdH 2| 2,800
02 2323l 42,780 42,780 0




FA: SSHSAIE A
dx: 2UNE 24
&t ZeHSE 2d3t (el &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
& 42,780
405 XHaHE SHI 24,430 600 23,830
01 XaLSEFSH 24,430 600 23,830
Ongal 227 650
Osetd a2 oot 3,000
OOl =D| 390, 00024 *2CH 780
OF===0N=s2, FHSMs2 HIEHIE 2¢ 20,000
HEAL &= 5,241,852 2,823,389 2,418,463
& 2,058,000
2 3,183,852
MEAL S 75,352 355,352 280,000
201 Yer29| 21,352 21,352 0
01 ArR22/H] 3,000 3,000 0
& o 3,000
02 BS2L| 18,352 18,352 0
e 18,352
202 ofHl 4,000 4,000 0
01 WY 4,000 4,000 0
OHMSAE 28 2= 4,000
401 Al&HI LS04I 50,000 330,000 280,000
01 Al&H 50,000 328,488 278,488
OB3HMsAd |X2e 50,000
MEHSAE THAY 920,000 526,000 394,000
2 368,000
2 552,000
401 AlEHI L ST 920,000 526,000 394,000
2 368,000
2 552,000
01 Al&H 914,480 502,212 392,268
OMEBHSALEELALY 914,480
2 368,000
2 546,480
03 Al =R0iHl 5,520 3,788 1,732
OHMEHSAEELAE R0
920,000, 0002 %0. 6% 5,520
HNE2 ZHAY 1,324,000 0 1,324,000
2 530,000
= 794,000
401 Al HIZL ST 1,324,000 0 1,324,000
2 530,000
2 794,000
01 Al&H 1,316,056 0 1,316,056




SN 2BHSAY L
Hu: 20008 84
Sl MSAL =5 (25 &2
MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OBCHe HSUSBAZLAL(LN) 1,316,056
=l 530,000
2 786,056
03 Al&=CH| 7,944 0 7,944
OBIE? HSUSBATLAY(LA) AL
H 1,324,000, 00021 +0. 6% 7,944
EE R 1,400,000 0 1,400,000
=l 560,000
= 840,000
401 AIEHILLCH] 1,400,000 0 1,400,000
= 560,000
2 840,000
01 Al 1,391,600 0 1,391,600
OIS=EpEE I 1,391,600
= 560,000
2 831,600
03 Al& S CH| 8,400 0 8,400
OUSHUSRAY ALY
1,400,000, 00021 +0. 6% 8,400
zORF L 22,500 17,625 4,875
101 2124yl 10,500 8,325 2,175
04 JIAH22HSE L4 10,500 8,325 2,175
ORCITRIQALY 35,0002 122 553 +5H & 10,500
206 2| 12,000 9,300 2,700
01 HEH| 2,000 9,300 2,700
OHlE 2 HEX P 12,000
—g27y 12,0002 *70 T %23] 54 2 8,400
—HENPY 12,0002 *30% %25 *5H 3,600
FrNSEEFA 1,500,000 0 1,500,000
=l 600,000
= 900,000
401 AIZHIL 2O 1,500,000 0 1,500,000
=l 600,000
= 900,000
01 Al 1,491,000 0 1,491,000
OB+NSERFALY 1,491,000
= 600,000
2 891,000
03 Al& S CH| 9,000 0 9,000
OBLNSERZAY L2
1,500,000, 000! +0. 6% 9,000
HME2s 285 2 HS sS4 678,760 893,760 A215,000
= 35,000
2 643, 760




2N 2EHSAYL
Ha: 2UHS S4
ol HS2s 288 2 HSY S4 (=CRE
_ _ MNuE o
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
NESESHIR 29 678,760 893,760 A215,000
= 35,000
2 643,760
301 YBrEAS 678,760 863,760 185,000
= 35,000
2 643,760
1 flzoe - 2s2s2A2 678,760 863,760 185,000
OH%E 20 340,000
o464 Y| 200,000
SIEELT 40,000
= 20,000
2 20,000
OMES 22| 98,760
= 15,000
2 83,760
HH2YAH(SSHS A L) 28,024 21,392 6,632
oz 2oy 7,360 7,160 200
oIzl 2oyl 7,360 7,160 200
101 QI24H| 3,800 3,800 0
03 RIHAD2RE 4 3,800 3,800 0
OnBMNSEE 3,800
203 YREXY| 3,560 3,360 200
02 HANMALEAY] 560 360 200
OF ML EAY] 40,0002 * 14 560
04 BASHAREAY] 3,000 3,000 0
ORN2IAREAY| 250,002 *122 3,000
=l 20,664 14,232 6,432
=l 20,664 14,232 6,432
201 Ygreg| 3,944 9,912 4,032
01 At 10,352 8,912 1,440
OE-Tl 10,352
02 2B2Y| 3,502 1,000 2,502
OEL! 3,502
202 01t 6,720 4,320 2,400
01 =Ly 01| 6,720 4,320 2,400
ORN2Y 20| 6,720




